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Detonation velocities, greater than that generated by high explosives (~10*m/s), can be achieved by using the
gravitational technology recently discovered. This possibility leads to the conception of powerful shockwave
weapons. Here, we show the design of a portable gravitational shockwave weapon, which can produce
detonation velocities greater than 10°m/s, and detonation pressures greater than 10°°N/m? .
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1. Introduction

The most important single property of
an explosive is the detonation velocity. It is
the speed at which the detonation wave
travels through the explosive. Typical
detonation velocities in solid explosives often
range beyond 3,000 m/s to 10,300 m/s [1].

At the front of the detonation zone, an
energy pulse or “shockwave” is generated
and transmitted to the adjacent region.
The shockwave travels outward as a
compression wave, moving at or near
detonation velocity. When the intensity of the
shockwave exceeds the compression strength
of the materials they are destroyed. If the
mass of the body is too large the wave energy
is simply absorbed by the body [2].

The pressure produced in the explosion
zone is called Detonation Pressure. It
expresses the intensity of the generated
shockwave. A high detonation pressure is
necessary when blasting hard, dense bodies.
Detonation pressures of high explosives are in
the range from 10°N/m? to over 10’ N/m*[3].

Here, we show the design of a portable
shockwave weapon, which uses the
Gravitational Shielding Effect (BR Patent
Number: P10805046-5, July 31, 2008) in
order to produce detonations velocities
greater than 100,000m/s, and detonation
pressures greater than 10°N/m? It is
important to remember that an aluminum-
nitrate truck bomb has a relatively low
detonation velocity of 3,500 m/s (sound
speed is 343.2m/s)". High explosives such as

When a shockwave is created by high explosives it
will always travel at high supersonic velocity from its
point of origin.

TNT has a detonation velocity of 6,900m/s;
Military explosives used to destroy strong
concrete and steel structures have a
detonation velocity of 7,000 to 8,000 m/s [3].

2. Theory

The contemporary greatest challenge
of the Theoretical Physics was to prove that,
Gravity is a quantum phenomenon. The
quantization of gravity showed that the
gravitational mass mg and inertial mass m;
are correlated by means of the following
factor [4]:

where m,, is the rest inertial mass of the
particle and Ap is the variation in the
particle’s kinetic momentum; c is the speed
of light.

When Ap is produced by the
absorption of a photon with wavelength 4, it
is expressed by Ap=h/A1. In this case, Eq.
(1) becomes




where 4, =h/m;,c is the De Broglie
wavelength for the particle with rest inertial
mass m;, .

It was shown that there is an
additional effect - Gravitational Shielding
effect - produced by a substance whose
gravitational mass was reduced or made
negative [5]. The effect extends beyond
substance (gravitational shielding) , up to a
certain distance from it (along the central
axis of gravitational shielding). This effect
shows that in this region the gravity
acceleration, g¢,, is reduced at the same
proportion, ie.,01=2,9 where
x,=mg/mjg and g is the gravity
acceleration  before the  gravitational
shielding). Consequently, after a second
gravitational shielding, the gravity will be
given byg, =x,9, =x,%,9, Where y, s
the value of the ratiom /m;, for the second

gravitational shielding. In a generalized way,
we can write that after the nth gravitational
shielding the gravity, g,,, will be given by

On =X, X, XX, 0 (3)

This possibility shows that, by means
of a battery of gravitational shieldings, we
can make particles acquire enormous
accelerations. In practice, this can lead to the
conception of powerful particles accelerators,
kinetic weapons or weapons of shockwaves.

From Electrodynamics we know that
when an electromagnetic wave with
frequency f and velocity ¢ incides on a

material ~ with relative  permittivity &,
relative magnetic permeability  and
electrical conductivity o, its velocity is
reduced to v =c/n, where n, is the index of
refraction of the material, given by [6]
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If o>>we,w=2d,EQ. (4) reduces to
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Thus, the wavelength of the incident
radiation (See Fig. 1) becomes
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Fig. 1 — Modified Electromagnetic Wave. The
wavelength of the electromagnetic wave can be
strongly reduced, but its frequency remains the same.

If a lamina with thickness equal to¢&

contains n molecules/m®, then the number of
molecules per area unit isné&. Thus, if the

electromagnetic radiation with frequency
fincides on an area S of the lamina it

reachesnS& molecules. If it incides on the
total area of the lamina,S; , then the total

number of  molecules reached by the
radiation is N =nS;&. The number of

molecules per unit of volume, n, is given by
N
A

where N, = 6.02x10% molecules/kmole is
the Avogadro’s number; p is the matter
density of the lamina (in kg/m®) and A is the
molar mass.

When an electromagnetic wave incides
on the lamina, it strikes on N, front
molecules, where N; ;(nsf)@n , &, is the

“diameter” of the molecule. Thus, the
electromagnetic wave incides effectively on an

area S=N;S, , where S =174 is the cross
section area of one molecule. After these
collisions, it carries out n with the
other molecules (See Fig.2).

collisions



molecule

Fig. 2 — Collisions inside the lamina.

Thus, the total number of collisions in the
volume S¢&is

N.otiisiors Nt TMottisiors N ngfn+(n S —ﬂns%) =
=n,S& 8

The power density, D, of the radiation on the
lamina can be expressed by

We can express the total mean number
of collisions in each molecule,n;, by means
of the following equation

N

_ IF]total photons

collisions (10)

Since in each collision a momentum h/A is

transferred to the molecule, then the total
momentum transferred to the lamina will be

Ap =(nN)h/A. Therefore, in accordance
with Eq. (1), we can write that

/’io 2
=11- 1+{ntotal photonNcollision57:| -1 (1]>

Since Eq. (8) gives N yisions =N S&, We get

P
Niotal photons NcoIIisions = (hf_zj(n SGZ) (12)

3
Substitution of Eq. (12) into Eq. (11) yields

My) P n ﬁ 2 _
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Substitution of P given by Eqg. (9) into Eq.
(13) gives

My _ 1— 1{[Nf8’“D n_S§]E

2
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Substitution  of N; ;(n Sf)ﬁrl and S=N;S,
into Eq. (14) results

3c2c2 42 2
Mo _ )y 1+[—n stm%@}%] 1|t (15

where mio(l) = p(I)V(I)

Now, considering that the lamina is
inside a ELF electromagnetic field with
E and B, then we can write that [7]

(16)

244,C

Substitution of Eq. (16) into Eq. (15) gives

2
30202 2 42
M0l e [nr(l)n i Jl -1+ (17

Ma) 2umouc’f? |4

Now assuming that the lamina is a
cylindrical air lamina (diameter = «a ;
thickness = 19! where

n=Nypg)/A=2.6x10% molecules /m?;
¢, =155x101°m; S, = 7t [4=1.88x10""m?,
then, Eq. (17) reduces to
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An atomized water spray is created by
forcing the water through an orifice. The
energy required to overcome the pressure
drop is supplied by the spraying pressure at
each detonation. Spraying pressure depends
on feed characteristics and desired particle
size. If atomizing water is injected into the air
lamina, then the area S; to be considered is

the surface area of the atomizing water,
which can be obtained by multiplying the
specific surface area(SSA) of the atomizing
water (which IS given by

SSA=ApV =3/ Puly ) by the total mass of the
atomizing water (M) =pV - dropletsNd).
Assuming that the atomizing water is
composed of monodisperse particles with
10um radius(rd =1x107° m), and that the

2
s2¢|E?
1+ 6.6x105[nr(|) fﬂ

atomizing water has N ~10%droplets/m* [8]

then we obtain SSA=3/pWrd =300m?/kg and
_ ~10-°

Miow) = PV, er dropletsNd ~107kg. Thus, we

get

St =(SSAM;g() ~107°m? (18)

Substitution ~ of  S; ~10°m?  and

Mio) = PairSo & =1.25,¢ into Eq. (18)
gives
2 4
n-E
B0 _Jy_g he |2r(|)4 > -1t (19)
Mio(1) s2¢4,

The injection of atomized water increases the
electrical conductivity of the mean, making it
greater than the conductivity of water
(o >>0.005S/m). Under these conditions,

the value of A, given by Eqg. (6), becomes

(20)

where f is the frequency of the ELF

electromagnetic field.
Substitution of Eq. (20) into Eq. (19)
yields

ns(l )OE4
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where nrz(l) = uyo[Aneq

Note that E = E,_ sinwt.The average value

for E® is equal to % E? because E varies

sinusoidaly (E, is the maximum value

forE). On the other hand, E, = Em/\/i
4

Consequently we can change E* by E!_,

and the equation above can be rewritten as
follows

4
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Now consider the weapon showed in Fig. 3
(o =12.7mm). When an ELF
electromagnetic  field with  frequency
f =10Hz is activated, an electric field E,

passes through the 7 cylindrical air laminas.
Then, according to Eq. (22) the value of »

(for o >>0.005S /m) at each lamina is
34
7>> {1— 2{w/1+ ~10"°Efms —1}} (23)

For example, if Epg 212593V /m we
get

7 >>-10° (24)
Therefore, according to Eg. (3) the

gravitational acceleration produced by the
gravitational mass M, =4.23kg, just after



the 7" cylindrical air lamina (r, =150mm),
will be given by

GM
9, =2'9=—x"—5>>>+10%m/s*  (25)
7

This is the acceleration acquired by the air
molecules that are just after the 7"
cylindrical air lamina. Obviously, this
produces enormous pressure in the air after
the 7" cylindrical air lamina, in a similar way
that pressure produced by a detonation. The
detonation velocity after the 7" cylindrical
air lamina is

vy =4/29,(Ar) >>10°m/s (26)

Consequently, the detonation pressure is
p=2p,Vi>>10"N/m?*  (27)

These values show how powerful can be the
gravitational shockwaves weapons. The
maxima resistance of the most resistant steels
is of the order of 10™N/m® (Graphene
~10"N/m?.  Since the gravitational
shockwave weapons can be designed to
produce detonation pressures of these
magnitudes, we can conclude that it can
destroy anything.
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Fig. 3 — Portable Weapon of Gravitational Shockwaves. Note that there are two sets of
Gravitational Shieldings (GS): the set A (accelerator) with 7 GS and the set D (decelerator) with 12
GS. The objective of the set D, with 12 GCC, is to reduce strongly the value of the external gravity
along the axis of the tube (in the opposite direction of the acceleration g, ). In this case, the value

of the external gravity, g.,, , is reduced by the factor y3?g,,., where 4 =102. For example, if the
opening of the tube (a) of the weapon is positioned on the Earth surface then g, =9.81m/s? is

reduced to y3?g,,and, after in the set A, it is increased by ». Without the set D, the back of the
weapon can explode.
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Detonation velocities, greater than that generated by high explosives (~104m/s), can be achieved by using the gravitational technology recently discovered. This possibility leads to the conception of powerful shockwave weapons. Here, we show the design of a portable gravitational shockwave weapon, which can produce detonation velocities greater than 105m/s, and detonation pressures greater than 1010N/m2 .  

         Key words: Modified theories of gravity, Detonation waves, Shockwaves, Nozzle flow.

          PACS: 04.50.Kd, 47.40.Rs, 47.40.-x, 47.60.Kz.  

1. Introduction

          The most important single property of an explosive is the detonation velocity. It is the speed at which the detonation wave travels through the explosive. Typical detonation velocities in solid explosives often range beyond 3,000 m/s to 10,300 m/s [1].

          At the front of the detonation zone, an energy pulse or “shockwave” is generated and transmitted to the adjacent region.          The shockwave travels outward as a compression wave, moving at or near detonation velocity. When the intensity of the shockwave exceeds the compression strength of the materials they are destroyed. If the mass of the body is too large the wave energy is simply absorbed by the body [2].

         The pressure produced in the explosion zone is called Detonation Pressure. It expresses the intensity of the generated shockwave. A high detonation pressure is necessary when blasting hard, dense bodies. Detonation pressures of high explosives are in the range from 106N/m2 to over 107 N/m2 [3].  

          Here, we show the design of a portable shockwave weapon, which uses the Gravitational Shielding Effect (BR Patent Number: PI0805046-5, July 31, 2008) in order to produce detonations velocities greater than 100,000m/s, and detonation pressures greater than 1010N/m2. It is important to remember that an aluminum-nitrate truck bomb has a relatively low detonation velocity of 3,500 m/s (sound speed is 343.2m/s)
. High explosives such as 

TNT has a detonation velocity of 6,900m/s; Military explosives used to destroy strong concrete and steel structures have a detonation velocity of 7,000 to 8,000 m/s [3].  


2. Theory


          The contemporary greatest challenge of the Theoretical Physics was to prove that, Gravity is a quantum phenomenon. The quantization of gravity showed that the gravitational mass mg and inertial mass mi are correlated by means of the following factor [4]:



[image: image1.wmf](


)


1


1


1


2


1


2


0


0


ï


þ


ï


ý


ü


ï


î


ï


í


ì


ú


ú


û


ù


ê


ê


ë


é


-


÷


÷


ø


ö


ç


ç


è


æ


D


+


-


=


=


c


m


p


m


m


i


i


g


c




where 

[image: image2.wmf]0


i


m


 is the rest inertial mass of the particle and 
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. In this case, Eq. (1) becomes
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where 
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 is the De Broglie wavelength for the particle with rest inertial mass 
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           It was shown that there is an additional effect - Gravitational Shielding effect - produced by a substance whose gravitational mass was reduced or made negative [5]. The effect extends beyond substance (gravitational shielding) , up to a certain distance from it  (along the central axis of gravitational shielding). This effect shows that in this region the gravity acceleration, 
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 is the gravity acceleration before the gravitational shielding). Consequently, after a second gravitational shielding, the gravity will be given by
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for the second gravitational shielding. In a generalized way, we can write that after the nth gravitational shielding the gravity,
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          This possibility shows that, by means of a battery of gravitational shieldings, we can make particles acquire enormous accelerations.  In practice, this can lead to the conception of powerful particles accelerators, kinetic weapons or weapons of shockwaves.

          From Electrodynamics we know that when an electromagnetic wave with frequency 
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and velocity 
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 incides on a  material  with relative  permittivity 
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, its velocity is reduced to 
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 is the index of refraction of the material, given by [6] 
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If  
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, Eq. (4) reduces to
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Thus, the wavelength of the incident radiation (See Fig. 1) becomes
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[image: image32.emf]                  Fig. 1  –   Modified Electromagnetic Wave .  The  wavelength of the electromagnetic wave  can be   strongly reduced ,  but  its frequency  remains the same .  
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        If a lamina with thickness equal to
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 is the Avogadro’s number; 
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 is the matter density of the lamina (in kg/m3) and A is the molar mass.               

          When an electromagnetic wave incides on the lamina, it strikes on 
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 is the “diameter” of the molecule. Thus, the electromagnetic wave incides effectively on an area 
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 is the cross section area of one molecule. After these collisions, it carries out 
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 with the other molecules (See Fig.2).  




[image: image51.emf]                    Fig. 2   –  Collisions inside the   lamina .     
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Thus, the total number of collisions in the volume 
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The power density,
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, of the radiation on the lamina can be expressed by
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           We can express the total mean number of collisions in each molecule,
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, by means of the following equation 
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Since in each collision a momentum 
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 is transferred to the molecule, then the total momentum transferred to the lamina will be 
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. Therefore, in accordance with Eq. (1), we can write that
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Since Eq. (8) gives 
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Substitution of Eq. (12) into Eq. (11) yields
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Substitution of 
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given by Eq. (9) into Eq. (13) gives
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Substitution of
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where 
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         Now, considering that the lamina is inside a ELF electromagnetic field with 
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Substitution of Eq. (16) into Eq. (15) gives
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          Now assuming that the lamina is  a cylindrical air lamina (diameter = ( ; thickness = ()  where  
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, then, Eq. (17) reduces to



[image: image77.wmf](


)


(


)


(


)


(


)


(


)


18


1


10


6


6


1


2


1


2


2


2


0


2


5


0


ï


ï


þ


ï


ï


ý


ü


ï


ï


î


ï


ï


í


ì


ú


ú


ú


ú


û


ù


ê


ê


ê


ê


ë


é


-


ú


ú


ú


û


ù


ê


ê


ê


ë


é


÷


÷


÷


ø


ö


ç


ç


ç


è


æ


´


+


-


=


l


x


E


f


m


S


n


m


m


l


i


f


l


r


l


i


l


g


.




        An atomized water spray is created by forcing the water through an orifice.  The energy required to overcome the pressure drop is supplied by the spraying pressure at each detonation. Spraying pressure depends on feed characteristics and desired particle size. If atomizing water is injected into the air lamina, then the area 

[image: image78.wmf]f


S


 to be considered is the surface area of the atomizing water, which can be obtained by multiplying the specific surface area(SSA) of the atomizing water (which is given by 

[image: image79.wmf]d


w


w


r


V


A


SSA


r


r


3


=


=


) by the total mass of the atomizing water  (

[image: image80.wmf](


)


d


droplets


water


w


w


i


N


V


m


r


=


0


). Assuming that the atomizing water is composed of monodisperse particles with 

[image: image81.wmf]m


m


10


 radius

[image: image82.wmf](


)


m


r


d


5


10


1


-


´


=


, and that the atomizing water has 

[image: image83.wmf]3


8


/


10


m


droplets


N


p


»


 [8] then we obtain 

[image: image84.wmf]kg


m


r


SSA


d


w


2


300


3


=


=


r


 and 

[image: image85.wmf](


)


kg


N


V


m


d


droplets


water


w


w


i


5


0


10


-


»


=


r


. Thus, we get 

 

[image: image86.wmf](


)


(


)


(


)


18


10


2


3


0


m


m


SSA


S


w


i


f


-


»


=


 

Substitution of 
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The injection of atomized water increases the electrical conductivity of the mean, making it greater than the conductivity of water 
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where 
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 is the frequency of the ELF electromagnetic field. 

          Substitution of Eq. (20) into Eq. (19) yields
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Now consider the weapon showed in Fig. 3 
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          For example, if 
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Therefore, according to Eq. (3) the gravitational acceleration produced by the gravitational mass 
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This is the acceleration acquired by the air molecules that are just after the 7th cylindrical air lamina. Obviously, this produces enormous pressure in the air after the 7th cylindrical air lamina, in a similar way that pressure produced by a detonation. The detonation velocity after the 7th cylindrical air lamina is
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Consequently, the detonation pressure is 
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These values show how powerful can be the gravitational shockwaves weapons. The maxima resistance of the most resistant steels is of the order of 1011N/m2 (Graphene ~1012N/m2). Since the gravitational shockwave weapons can be designed to produce detonation pressures of these magnitudes, we can conclude that it can destroy anything. 
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� When a shockwave is created by high explosives it will always travel at high supersonic velocity from its point of origin. 
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Fig. 3 – Portable Weapon of Gravitational Shockwaves. Note that there are two sets of Gravitational Shieldings (GS): the set A (accelerator) with 7 GS and the set D (decelerator) with 12 GS. The objective of the set D, with 12 GCC, is to reduce strongly the value of the external gravity along the axis of the tube (in the opposite direction of the acceleration
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Fig. 2 – Collisions inside the lamina.  
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Fig. 1 – Modified Electromagnetic Wave. The wavelength of the electromagnetic wave can be strongly reduced, but its frequency remains the same.
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